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SD(TH SEMESTER B.TECH. (ENGTNEERTNG)
DGMINATION, JUNE 2OO8

EC/AIIIC/BM 04 602-DIGITAL SIGNAL P
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c 47604

Time : Three Hours

Answer all questions. =*ifilFs'-- .ii ii
Part A ii ir

Find the discrete Fourier series representation of the periodic sequence x(n) = {1, 0, l, 0} with 
i li ,,

tl

period N = 4 samPles. z,4: :i i

Explain what is meant by inplace computation with reference to FFT "t*"tt').%i93a$N if

Compare cascade realizationswithparallel realizations. - /ir%,9yfKC$.6;N
Explain what is meant bv limit cvcle oscillations' " 

* 
' ?( 0 \2l|?l/i e/d

Explain the advantages of FIR filter' {\ 
- \fr\ R.F i:jii ll

Exprain what is meant by warping effect. \. 
)t 

*dr'iiJl

Draw the block diagram of hard ware multiplier accumulator and "*pfui"\+,,--iia,r.-4{f'' ti

Explain the basic requirements of special'purpose DSPs' -i\=.'-->/illt jl
(8 x 5 = ns -u'LO j'ii 

.

- Fart B liii il

(r) Explain how do determine linear filtering operation using DFT. 
if .li ;i' it li

(ir) State and prove convolution propertv of DFT. 
.:ii ilor 
''li 

1l

Derive decimation-in-frequency, radix-2, FFlt algorithm for evaluating DFT coefficients' jj jl

Obtain lattic structure for the discrete-time system d'escribed by the difference equation ' 
. lj, 

jl
y(n) = 2x (n) - lx\n - r) + 3x (n - 2)- i1

or ii i]

Explain the effects of quantization of filter coefficients in FIR filters. ij jr

Draw the basic hardware architecture for signal processing svstem and explain jt 
l]
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V. (a) hlaitr the design of FIR filters using frequency sampling technique.

:..:f :,i;-; or

(b) (D lkrive the formula for obGr,bring <rder of etasdard Buttwwth frlter. (7 marks)

(ii) Convert thefrfibrrisg analog tmnafer funetion into digital usi4g bilinear transformation
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(8 marks)

[4 x l5 = 60 marksi

ritb.samPling t*me \ = I sec.

,trii'. :-' IH(s)=G$Ar)


